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b (cm) ds bo = b-2ds (cm)
D (cm) (cm) Do = D-2ds (cm) D
Ao : - = bo Do (cm2) T : (kNm)
Lo : - = 2 (bo+Do) (cm)
[ ]
T Lim T = (b”2 D/3) 4 £s/1000 (kNm) b
az
az =T Lo/(2 zft Ao) (cm2)
1 al Pwt
al =T x/(2 wft Ao) (cm2) Pwt = 2 al/(b x)
Pwt = T/(wft Ao b) X i (cm) Fc fs :
Pwn ( ) zSD zft :
Pwn = Pw + Pwt - Pwo Pw : wSD wft :
Pwo = 0.10% Pwo : (N/mm2)
| St
fs ft
(mm) (mm) (mm) (N/mm2) ( D ) (N/mm2) (N/mm2) (kN m) (mm2) (mm)
(mm) (m) (mm2) (m) (D) (mm () *KNm &
Gl b D ds fs zft wft T az
RC [ 1 450 700 40 0.73 19 215 195 | 40.0 803 196 4 -D19
Fc 24 bo Do Ao Lo | St St Pw | LimT Pwt Pwn St ( + )
zSD 345 370 620 229400 | 1980 13 200  0.28% 138.0 | 0.20% 0.38% D13 @ 148
wSD 295 T Lim T OK 300 OK
Gl b D ds fs zft wft T az
RC [ 1 450 700 40 0.73 19 215 195 | 40.0 803 197 4 -D19
Fc 24 bo Do Ao Lo Lim T Pwt Pwt-Pwo St  ( )
zSD 345 370 620 229400 | 1980 138.0  0.20% 0.10% 0.10
wSD 295 T Lim T 0K 300 0K
Gl b D ds fs zft wft T az
RC [ 1 450 700 40 0.73 16 197 195 | 40.0 878 148 6 - D16
Fc 24 bo Do Ao Lo St St Pw Lim T Pwt Pwn | St ( + )
zSD 295 370 620 229400 | 1980 13 200 = 0.28% 138.0 | 0.20% 0.38% D13 @ 148
wSD 295 T Lim T OK 300 0K
Gl b D ds fs zft wft T az
RC [ 1 450 700 40 0.73 16 197 195 | 40.0 878 149 6 - D16
Fc 24 bo Do Ao Lo Lim T | Pwt |Pwt-Pwo St ( )
zSD 295 370 620 229400 | 1980 138.0  0.20% 0.10% 010
wSD 295 T Lim T 0K 300 0K
G2 b D ds fs zft wft T az
RC [ 1 450 700 40 | 1.10 16 295 295 | 80.0 | 1170 148 6 - D16
Fc 24 bo Do Ao Lo St St Pw Lim T  Pwt Pwn | St ( + )
zSD 295 370 620 229400 | 1980 13 200 = 0.28% 207.0 | 0.26% 0.44% D13 @ 126
wSD 295 T Lim T 0K 300 0K
G2 b D ds fs zft wft T az
RC [ 1 450 700 40 | 1.10 16 295 295 | 80.0 | 1170 149 6 - D16
Fc 24 bo Do Ao Lo Lim T Pwt Pwt-Pwo St  ( )
zSD 295 370 620 229400 | 1980 207.0 | 0.26% 0.16% 0.17
wSD 295 T Lim T OK 300 OK




